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2. fHR AR 200l 5 R BV 40 B B R BB ST R BB 2 05% BB MR R, 2005 =
1.96, 2905 = 1.645. (15 points)

3. AAMRTSA A — 22 (type ervor), (AR AR 5E JJ (power) F11{A] 59 B 2% 7k ie (significant
level). (15 points)
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= ny = 20,1 H MRS BE A BT, =5,%, =65, 5 =14, 52 =6
(a) BRI puy ~ pip 22 95% HO(E MR . (7 points)
(b) fERAL AR 7K e o = 0.1, B AR T2 W 1 CH T2 S WOR T AH S . (8 points)
2026 = 1.96, togas(a0) = 2.021, tooas(as) = 2.024, to.0s(40) = 1.683, £y g5(3m) = 1.686.
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ol HER(R)
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c 19,17, 21
D | 24,30
(a) Bl 37 L UUREIH B S5 472 (ANOVA "Table). (10 points)
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Fousian = 4.12, Fyusan = 4.35
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X ~ B(n,p) '
X ~ Gamma(a, 8)

X ~ X(zn—l)
X ~ Poisson()
X~ H(N,D,n)
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A {EMHL SSTO = SSR+ SSE. (10 points)




